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V. EMRREGR
(1) Z3llRK

(HH3EE)
( /mL)

E O B

Anabaena  spp.

Chroococcus spp.

Werismopedia spp.

Microcystis spp.

Phormidium spp.

E E =B

222

80

116

52

120

64

102

22

52

128

576 396

Achnanthes  spp.

Amphora spp.

Asterionella spp.

NP

Aulacoseria spp.

Bacillaris spp.

Cocconeis spp.

14

16 16

Cyclotella spp.

16

36 24

Cymatopleura spp.

Cymbella spp.

20

Diatoma spp.

22 6

Diploneis spp.

Fragilaria spp.

60

40 50

Frustulia spp.

Gomphonema  spp.

56 30

Gyrosigma spp.

Welosira spp.

10

10 2

Navicula spp.

66

14

26

52 52

Neidium spp.

10

Nitzschia acicularis

Nitzschia spp.

38

10

206 102

Pinnularia spp.

10

22

18

94 50

Rhoicosphenia spp.

18

Rhopalodia spp.

Tabellaria spp.

Surirella spp.

Synedra acus

Synedra ulna

Synedra _spp.

' & %

20

26

14

Ankistrodesmus spp.

Chlamydomonas  spp.

10

10 4

Chlorogonium spp.

Chloromonas spp.

Cosmarium spp.

Gloeocystis spp.

Mougeotia spp.

Oocystis spp.

Others (Hemi toma spp. )

Scenedesmus  spp.

Schroederia spp.

Spondylosium spp.

Sphaerocystis spp.

Staurastrum spp.

Tetrabaena spp.

Tetraspora spp.

Pediastrum spp.

PDPAS T

|(31“yp tomonas spp.

N

N

N

A & E 8

|01'/10/713V0n Spp.

| Uroglena spp.

m_H E

I Glenodinium

| Peridinium spp.

1—J L B8

| Euglena _SPp.

W B Y

fHER

REHR

ES 7 @

242

80

122

56

128

68

134

28

54

134

594 402
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(2) Zil

YORRIK

(

(BRO3FE)

/10mL)

3 & 8 0 0 0 0
I/lnabaena Spp.

I Oscillatoria spp.

= & ] 1 21 9 26
Asterionella spp.

Amphora_spp. 1
Achnanthes spp. 2

Aulacoseira spp. 3
Cocconeis spp.

Cyclotella spp. 1
Cymbella spp. 4 4
Diatoma spp. 1
Fragilaria spp.

Gomphonema  spp. 5 3 2
Welosira spp.

Navicula spp. 1 15 3 4
Nitzschia spp. 2 8
Pinnularia spp. 2
Rhoicosphenia spp. 1

Synedra spp. 1

Surirella spp.

w® & & 0 0 1 2
Ankistrodesmus spp. 1
Stigeoclonium spp. 2
Chl. a_mydomonﬁs Spp.

JU T 0 0 0 0
[Cryptomonas spp.

kS [ # 1 27 10 28
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